ELEC 2200-002 Digital Logic Circuits 
Fall 2008
Homework 5 Problem
Assigned 10/6/08, due 10/13/08

Problem 1: A 1-bit full-adder circuit has three inputs, data bits A and B, and a carry bit C. It produces two outputs, sum S and carry CO.

(a) Specify truth tables for the two outputs.
(b) Write the canonical SOP forms for the two outputs.
(c) Using Karnaugh maps, find the minimal SOP forms for the two outputs.
(d) Synthesize a logic circuit to produce the two outputs using inverting gates.



























